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29 29202 3.03 2.72 -0.31 0 9053
30 12630 3.02 2.81 -0.21 0 2652
31 9328 2.99 2.60 -0.39 0 3638
32 11162 3.00 3.10 +0.10 1116 0
33 13702 3.11 3.54 +0.44 5752 0
34 12266 3.17 3.01 -0.16 0 1963
35 13949 3.14 2.51 -0.63 0 8788
36 28469 3.16 3.11 -0.05 0 1423
37 2578 3.24 2.78 -0.46 0 1186
38 7293 3.26 2.50 -0.76 0 5543
39 24158 3.29 2.62 0.67 0 16186
40 835805 3.43 2.15 -1.28 0 1069830
41 28507 3.00 2.03 -0.97 0 27652
42 29206 3.06 2.74 -0.32 0 9346
43 25870 3.13 3.29 +0.16 4139 0
44 34409 3.06 1.69 -1.37 0 47140
45 33951 3.14 2.44 -0.70 0 23766
46 8947 3.22 2.59 -0.63 0 6204
47 37593 3.30 2.66 -0.64 0 24060
48 27221 3.26 2.98 -0.28 0 7622
49 30954 3.37 2.54 -0.83 0 25692
50 29863 3.43 2.46 -0.97 0 28967
s1 30850 3.12 2.33 -0.79 0 24372
52 26141 3.20 3.37 +0.17 4444 0
53 7740 3.16 3.55 +0.39 3019 0
<4 7275 3.21 2.90 -0.31 0 2255
35 13111 3.16 2.33 -0.83 0 10882
<6 12677 3.51 2.13 -1.38 0 17494
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